Lecture 58 - Page 1

AR

W = 2000 vord [Sec

. _
ij= ] %thx 140 X\o

= j57o,0_
o .
W& ’JX/ﬁX\D’sXSSX\O =
— _'CI — Qs :{)Qo@-éo_ﬂ_
16D X0
R- 3k | e (1

\% )SToS2- .T -)boto Lo

*

= if 2. 3kN 1] S0 1Ak~ Cobo oo

! \ \

—
— B

(14, -
Euqﬁ Z 2 ' T 1 Gago G0 L
<= 3L ts05 |k - 6360

Lect58 Page 1



Lecture 58 - Page 2

_ Y~ -~

\

S-1 fe-122.0
17/%112 ¢
23 /o (L\Lm
T

|
/
~J 3/

Lect58 Page 2



Lecture 58 - Page 3

P\(WVV\
L v
(/0o 7
T C ZR
) B
ZC = — | rA Qi
3 (2007 160 X10
/T
w
ZK: loo
Nk davsina ‘
_ Z. o
;:"\Q N = <—lﬁ>
S A
Z + Z—(a

Lect58 Page 3



Lecture 58 - Page 4

EA b ovm
?Y\\p%muv Lonnd

W=2 lo/s” A fz

Lect58 Page 4




Lecture 58 - Page 5

Rl den

N : +
\DE mh L_ij’— \/
L, ek
T ¢ ﬂxc _
jE = IDL—%
_ 1 Z
Yovdr N(Z}_{. C>

= \oﬁ o ijk!l—jmkﬂ.)
- B/ (-uxd)  9o/3

M 1
— lOEO[ L \/
i

ouk -OIOLE Vv

(<L
J

Lect58 Page 5



Lecture 58 - Page 6

Lect58 Page 6



Lecture 58 - Page 7

Lect58 Page 7



Lecture 58 - Page 8

Frkon y

, Zc Y
~ 0
|
W=\60 L[o@‘3 Z\ 7 Z
Yad *
;

Lect58 Page 8



Lecture 58 - Page 9

b2 e

N =\ooo 4
ok Al ! L
Z" L'EV Z z ZT17 V
e C O L ~ o
. —= . |
Z, = SQooo)Q,ox\o 0o ZL = 2000
Z = = Q_

< tlooo> I’J\-Sx\zé
Viodle ov\/\.a&/ksu,o

{"(’[
L‘_‘- G vV — \/\//(9_‘_ G —\r\//vo + O ‘_\/{JO =6

El_e)\'f/o‘vw@ Y/b ﬁmoo YO‘oo/g@(,
L
vy = Re[ Y,

Lect58 Page 9



